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@® 25° @ 30° (@)35°
@ 40° ® 45°

7T o] yzte] 3714 92 180° o|B=
Lx+3/x+24x—-30°=180°
S /x=35°
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Lx = 60° + 35° = 95°

95° = 50° + 2y

SoLy = 45°
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3®)90° @ 100°

® 110°

360°+4=90°
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® 150°

£55° + /60° = /115°
Lx = £20° + £115° = £135°
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@® 100° @120" ® 150° @ 160° ® 165°

2/ABC = /DAC, /DCE = 3/ABC
/x = 3 x40° = 120°
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@® 50° @55° ® 60° @ 65° ® 70°

thzte o] ztat o] Zke] 92 180° o] B2, £x 2] 2172 (180°-
cx ) olth, thzbeg o] 97kl g2 360° o|B=, (180° - /x) +
45°490° +40° +60° = 360° ©] 1L zx = 55° o]t}
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@® 70° @ 72° @73° @ T14° ® 75°

~&B

AECE € 94351 27t ABCEF 2] WZ+e] 92 180° x (5 -
2) = 540°

540° = 105° + 120° 4 36° + /DCE + /DEC + 62° + 110°
(DCE + /DEC = 107°

ADCE 9| A

/x = 180° - 107° = 73° o]t}

2, 78R




10.

o2 2 NA za+ b+ Le+ 2d + Le & 27T

@® 180° @ 360° @540° @ 720° ® T20°

la+ b+ L+ d+ Le O] A7]= 7V 9] YZte] 37]9] gt
zZouzg

2Zvg o] Z+o] 2 180° x (5 — 2) = 540°,

w2bA za + /b + Lc + Ld + Le = 540° O]t
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a=10

=35

Sa+b=10+35=45
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@ 15 @ 16 (@)17 @ 18 ® 19

a: 11-3=28
b:11-2=9
T a+b=8+9=17
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14. o} 13o|A AE ¢} EF = Z+ZF /BAC 9} Z/AEC 9] o] 5 E o] 11
A D = AB, EF o] ad&4e] wHolt}. /C =36° /D =18 ¢ uf,
/ABC 9] 27|=?
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@® 60° @ 68° @72° @ 75° ® 78°

€8 ~
/DAE = q 2}1 59

/AEF = a + 18° = /CEF

(CFE = 2a + 18°

ACEF oA

a+ 18° + 2a + 18° + 36° = 180°

3a = 108°, a = 36°

. LABC = 180° — (72° + 36°) = 72°
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